GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT SCHOLARSHIP
EXAMINATION, 2020
(FOR STUDENTS STUDYING IN CLASS VIII)

Mental Ability Test

Class-VIII Code State Code

Year Code Centre Code Serial No.

Roll No. 1

23 210

Full Marks : 90
Tf’me: 90 minutes (10-30 AM to 12 Noon)

Instructions to Candidates '

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each guestion in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

S. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall. :

6, You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in the
OMR Answer-Sheet.

7. The OMR Answer-Sheet should behanded over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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MENTAL ABILITY TEST

(Questions 1—10)

DIRECTION: In each of the questions
1 to 10, there are four items, three of which
are alike by some means or other while one is
out of the class. Find out the odd item and
give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e% 1—10)

[ 2 1 2 10 14 e eiva) srafd s o
TR, R B R N G R g3k
BT St | (B WF AT e I A
Tesfb Fdion Wt @ O.M.R. Sexeicaa S
€ 39 T (oW Tex Frire A ()

1. (a). Spider (W=wT)
(b) Butterfly (=%ioifS)
(c) Mosquito ()
(d) Housefly (=f)

2. (a) Square @)
(b) Triangle (fag®)
(c) Rectangle (Siecsa)
(d) Cube (39=)

3. (a) 396
(b) 427
(c) 671
(d) 264

4. (a) Hockey (zf%)
(b) Cricket ({&5)
(c) Football (F53%7)
(d) Chess (wi=)

5.

10.

(a) Apple (It==)
(b) Guava (¢o7i=)
(c) Litchi ()

(d) Orange (FW1EY)

(a) Radius (%)
(b) Chord (=m1)
(c) Circumference (#/fzf%)

(d) Vertex (Refny)

(a) 128
(b) 9

(c) 16
(d) 64

(a) Eye (M)
(b) Nose (#i=)
(c) Lips (%)
(d) Chest (q=a2if®)

(a) Paneer (sif89)
(b) Ghee ()
(c) Butter (351)
(d) Milk (v%)

(2) MNOP
(b) DEQP
(c) STBA
(d) XYIH




(Questions 11—20)

DIRECTION: Read the questions carefully
and give the answer by filling the circle of the
letter denoting your selected answer on the
O.M.R. Answer-Sheet.

(e 11—20)

T (A AT Teals o e @az O.MLR.

]
11. ‘Dog’ is related to ‘Rabies’, in the

same way as ‘mosquito’ is related to
FIT-GT A% @I AN 97 754,
(ST T3 AL FsifFs
(a) Plague (caist)
(b) Typhoid (bizFrTw)
(¢) Malaria (syvcsifzam)
(d) Sting (o)

12. “‘Glucose’ is related to

‘Carbohydrate’ as ‘Soyabean’ is related to

Y -9 A @ PIRIRGS a7
M, (SN “GINR 97 A 1w

(a) Proteins (¢2iifGw)

(b) Vitamins (f&5ifs)
(c) Minerals (3% iwi<f)
(d) Fats (crzemi<)

13. “Ship’ is related to ‘Sea’, in the same
way as ‘Camel’ is related to

TIRE-97 AL @
(ST TH*-93 312 FifFw

(@) Forest (w%7)
(b) Pond (+3)

(¢) Mountain (s1%w)
(d) Desert (Fei)

TR TAAE;

[4]

14. ‘Peacock’ is related to India, in the
same way ‘Bear’ is related to

R A ©Ie-a7 Aok i 7, gy
©IR SHF -4 HC ~lfFe 771

(@) Australia (3R

(b) National Animal (&St 1))

(c) Russia (Fifzm)

(d) Bird (=R)

15.  “Architect’ is related to ‘Building’, in

the same way ‘Sculptor’ is related to

2 A ST -7 31w Ao =, a
S0 ST -7 Al FH~ e 27

(2) Museum (S3=)

(b) Stone (sN27)

(c) Statue (If$)

(d) Road (z1s1)

16. ‘Football’ is related to ‘goal’, in the
same way ‘Cricket’ is related to

O MM “Clier’ a1 T SoifFe 2, G2
S TR0 -3 AR 7ol 7

(a) Ball (s#1)

(b) Run (7)

(c) Bat(35%)

(d) Wicket (T3z5)

17. ‘Barometer’ is related to ‘Atmospheric
pressure’, in the same way as ‘Thermometer’
is related to

VRO MY @ <Eweay
BICAT’ 371, (oot ARG g > 7
=

(a) Earthquake (gfie=)

(b) Heat (Stot)

(¢) Temperature (Siofsiar)

(d) Density (%)



18. ‘Earthquake’ is related to ‘Earth’, in
the same way as ‘Thundering’ is related to

RT3 M @ RN T,
(SRSl Ry FRRIER AL FF =g

(a) Earth (s}f23)

(b) Sea(>t)

(©) Sky (Srer)

(d) Sun ()

19. ‘Odissy’ is related to ‘Orissa’, in the
same way as ‘Katthak’ is related to

AT M @ Cefee i,
(NS T -9 AN =91 BTz

(a) Uttar Pradesh (@3 2ti#!)

(b) Assam ()

(c) Punjab (i)

(d) Bihar (R2%).

20. ‘Book’ is related to ‘Pages’, in the

same way as ‘Flower’ is related to

T-GT MR @ A T,
(SIS FoT-93 AL HIF N2

(a) Tree(si®)

(b) Fruit (1)

(c) Garden (3t9«)

(d) Petal (+1+if%)

[5]

(Questions 21—30)

DIRECTION: In each of the questions
21 to 30 same codes have been used to write
words. Try to find out the rule of coding in
each case and answer as per direction in the
O.M.R. Answer-Sheet.

(e 21—30)

[Tt ¢ 21 T 30 1S 2B &es *< I
Gy g e TRE w1 @R A oW
FRIFORHR 0 SFpTia F17 G¥ I 9%
#fos Seafs O.M.R. Tez+iea [i8 9@ =47 T
(S Ted e S (]

21. In acertain code, if ‘CALCUTTA’ is
written as ‘53759883’ then ‘ACTUAL’ will
be coded as

I @I Ao ‘CALCUTTA® &
@ =W 53759883°, o7 ‘ACTUAL’-99 (@
W

(a) 385937

(b) 358937

(c) 539837

(d) 385793

22, If ‘TEACHER’ is coded as 20-5-1-3-
8-5-18 then ‘STUDENT’ will be coded as
W ‘TEACHER’-@3 7@® 20-5-1-3-
8-5-18, %3 ‘STUDENT’ -9 F© 31
(a) 19-20-21-14-4-20-5
(b) 19-20-21-4-5-14-20
(c) 19-21-20-14-4-5-20
(d) 19-20-21-5-4-20-14

23. Ifthe word ‘ELFPHANT’ is coded as
‘TNAHPELE’, then what should be the word
for the code of ‘NAICISYHP’?

RG] ‘ELFPHANT -93 NGRS
‘TNAHPELE’, 9@ @« %8 W&o
‘NAICISYHP’?

(a) PYHSICINA

(b) PHYSICIAN

(c) PHYCISIAN
(d) PHYISICAN



24. If in a certain language ‘MOTHER’
is coded as ‘NNUGFQ’, GAMBLE is coded
as FBLCKF, how is FLOWER coded in the
code?

I 93 R e Iz ‘MOTHER’
& @ = ‘NNUGFQ’, GAMBLE & (=141 2%
FBLCKF € ¢332 &% 3987 FLOWER &
eI @ A2

(a) GKPVF

(b) EMNXDS

(c) GMPVDS

(d) EMXSDN

23. In a coding system RAT = 18 ZU,

HIM = 8§ RN, then FIX = ?

«=f i@ RAT = 18 ZU, HIM =
8 RN, @izt FIX = ?

(a) 6SY

(b) 6RY

(c) 71SY

(d) 7RY

26. Inacoding system ‘LIGHT’ is coded
as 12-9-7-8-20, then what will be the code for
CORONA?

@b Mo 2T ‘LIGHT & @0 =
12-9-7-8-20, wizsi CORONA-43 &S
{7

(a) 3-15-18-15-14-10

(b) 3-15-18-15-14-1

(¢) 1-14-15-18-15-3

(d) 1-14-15-18-15-10

27. In a coding system ‘COW’ is coded
as ‘A15X’, ‘DAM’ is coded as ‘B1N’, then
‘PUT"’ is coded as

G WFe JFA ‘COW’ ERI =W
‘Al5X’, ‘DAM’ & @1t =1 BIN, wiges ‘PUT’
(P @RI ¢

(a) N21V

(b)y 021U

(c) N21U

(d N21W

[6]

28. If Z=52and ACT =48 then BAT ="

M Z = 52 @ ACT = 48, o=
BAT =?

(a) 39

(b) 41

(c) 44

(d) 46

29. 1If in a certain code, CUP = 40 the
KITE="?
@I Ao simR fr CUP = 40 =3,
©izis KITE = ?
(a) 10
(b) 20
(c) 30
(d) 45

30. If the word ‘LEADER’ is coded as
20-13-9-12-13-26 how would you write
‘LIGHT’ in the same coding system?

Im ‘LEADER’-43 e 20-13-9-
12-13-26 =7, ©izrs €2 7o 4927 ‘LIGHT -
G LTS P FA?

(a) 20-16-17-15-27
(b) 20-15-16-18-23
(c) 20-17-15-16-28
(d) 20-16-15-17-22



(Questions 31—40)

DIRECTION: Study the diagram which is
given below and read the questions carefully
and give your answer in O.M.R. Answer-
Sheet.

(e 31—40)

(o 2 Siva Baek oeTem 7 3w g7
2sfeT ST “tet 93k O.M.R. Tegeitg Teq
ne |

31.
shows the relation between Pigeon, Bird and
Dog?

A= I B sArr, =1 g2 3= Ty
T QR 2
(2) @O ® (O
@)
©) | @ (OO

32. Which of the following diagram
shows the relation between Hockey, Football
and Cricket.

e v el 2, Foam 9 Tezsa
MG FTAE (R 2

.. =&
() (:g (b, OO
(c) @ '{'d) @Z}

33. Which of the following diagrams
shows the relationship between football fans,
cricket players and students?

o= i ol Tt (2R, i s
@3 Pt s TIE @Rime

@) g@) ) @
0D ©@

Which of the following diagram

[7]

34. Which  diagram  shows the
relationships between days, months, years?
I oafb e, T @ I ey e 2
(a) (b) @
(c) @ O (d)
35. Which  diagram  shows the

relatiohship between wood, chair, shoes?

@ el O, GIW, Hrow W
bilisoo)

@O0
O
© @ ) @ O

36. Which of the following diagrams
indicates the best relation Examination,

Questions and Practice?
AT

w2 i ol R, o @)
DO

K R @I
0@



37. Which of the following diagrams
indicates the best relation between Mobile,
Computer and Sound?

A @ Bafs ciaize, sFEhm g
=THE W T @RI e

38. Which of the following diagrams
indicates the best relation between Chess
player, Golf player and Swimmer.

G3R HIORF-9F TG T QAT 2

© @ (0)

39. Which of the following diagrams
indicates the best relation between Iron,
Carbon and Oxygen?

ANoR it oalb =Tz, I @ wiRiecr
0 TIE QRN 2 -

@ OO0 v

(©) @ O (d) @

'40. Which of the following diagrams
indicates the best relation between World
Cup, Cricket and Football?

Moot i oaft Reapiet, 57 3k v

G O FT2fE QT 2
o@D ®

© @ @ @

(Questions 41—50)

DIRECTION: Following questions are
based on letter series. In each series some
letters are missing. The missing letters are
given in the proper sequence as one of the
alternative. Find the correct alternative in each
case and mark the right alternative on the
O.M.R. Answer-Sheet.
(e 41—50)
[t ¢ Sisa emef smra @ s 2760 s
g v were | sl Reme «wites wEe
el Ae @i A s | 2 o
i< fRewfS 21 ¥ O.MLR. Taaoize oI 3 779l
R (O e e w5z (]
41. at—ata—taa—a—ta

(a) aata

(b) atta

(c) aaat

(d) taat

42, s—et—swe—t—w——ttsw— —1
(a) wettsee
(b) wttesst
(c) wttseet
(d) wttesse



43. qw—t—wptqwp— —wp—

44'

45.

46.

(a) pqttq ‘
(b) pqtqt

(c) pttqw

(d) qwtwp

rmnf—mn—r — —f—mnf
(a) rfnmr
(b) rfmnr
(c) rfrnm
(d) rfrmn

a—ba—bb—ab—a
(a) abab
(b) baba
(c) baab
(d) abba

ab—da—cd—bc—
(a) abdc
(b) bcad
(c) acbd
(d) cbad

[9]

47.

50.

YX—YX—YyXZ—XZy—ZyXZ
(@) zzyx
~(b) zyxx

(c) zzxy

(d) xyzx

48. —cd—bc—ab—dabc—a

(a) bcada

- (b) badcd

(c) acbda
(d) acadb

49. Im—nnll—mn—Ilmm—nl

(a) mnmn
(b) mnnn
(¢) nnmm
(d) mmnn

—XX—yX—yy—Xy—XXy
(a) xxxyy
(b) yxyxy
(©) yyxxy
(@) yyyxx



(Questions 51—60)

DIRECTION: In each of the questions 51 to
60 a figure or a set of figures is given, each of
which bears certain numbers following a
certain pattern. You have to decipher this
pattern and find the missing number in the
figure and denoting your selected answer on
O.M.R. Answer-Sheet. '

(2t 51—60)

(ot 3 51-60 515 2% eow qpan 5 am|
2 foug i S g st w2y st great
R @] WA w1 et o3t /R
quwwmaiﬁmmﬁm
3% Tea O.M.R. Texeig 8 38 ozt wca
(SR e oS e |] :

l6 56'90 2}20 0

52.

(a) 625
(b) 25
© 125
(d) 156

[10]

53.

54.

5S.

5] 631
3| 8|17
4 |12 2
(a) 33
(b) 26
(c) 28
(d) 29

9 9 /
93 21\
=N
L
(a) 168
(b) 189
© 193
@) 190

fs

81

/

(@ 19
(b) 17
(c) 18
@ 20

ARV
2l [5>

8



Vg ygng)

56.

58.

82

(a) 62
(b) 66
(c) 72
(d) 76

=

15

13

(@) 7
(b) 4
© 5
(d) 8

(Questions 61—70)

DIRECTION: In each of the following
questions select a figure from the four
alternatives which placed in the blank space of
figure would complete the pattern. Indicate
your answer by filling the Circle of the letter
denoting your selected answer on the O.M.R.
Answer-Sheet.

(e 61—70)

o ¢ Sz 61 A 70 % el Wz
mﬁwﬁammﬁﬁmwmﬁa@%%fgm
Ol e 5 ficg Tefo O.M.R. Teaoita RS 3@

KERRSIOB ERC SRR (GRICE T )|
61. [

ol o]

o] e
© 3| @ | —jl

[11]
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(Questions 71—80)

DIRECTION: In each of the question 71 to
80 three out of f

our figures are alike in same
Iespect and one is different from others. Find

out the odd figure in each question and
indicate your answer by filling the circle of the

letter denoti g your selected answer on the
O.M.R. Answer-Sheet.

(e 71—80)

(a) (b) (©) (d)



75.

76.

77.

80.

(Questions 81—90)

DIRECTION: In each of the following
questions, a number of series is given with one
the terms missing choose the correct
alternative that will continue the same pattern
and answer on the O.M.R. Answer Sheet by
filling the circle.

(erd 81—90)

[t ¢ Ticsx 2fef e fog w1 @i g @3
TR AT (e R | R4 e TERe ( 7) Biee

. AT Teas O.M.R. Sea@wis ||

81. 3,9,27,7, 243,729
(a) 81
(b) 18
() 12
(d) 15

82. 2,3,5,7,7,13,17
(a) 8
() 9
(c) 10
(d 11

83. 5,20, 80, 320, 25120
(a) 1240
(b) 1200
©) 1280
@) 1260

84. 1,22,7, 4444, 55555, 666666
(a) 33
(b) 3
(c) 333
(d) 3333

[14]



85. 4,11, 18,25,32,7

86.

87.

(a) 41
(b) 37
(c) 39
(d) 38

3,12,48,192, 7

(a) 868
(b) 768
(c) 772
(d) 872

(e

[15]

88. 5,9,17,33,65,7

89.

90.

(a) 257
(b) 143
(c) 156
(d) 129

3,4,8,17,33, 7

(a) 54
(b)y 62
(c) 58
(d) 64

18,37, 54, 69, 82, 7

(a) 93
(by 91
(c) 89
(d) 97



GOVERNMENT OF WEST BENGAL
DIRECTORATE OF SCHOOL EDUCATION

CENTRALLY SPONSORED NATIONAL MEANS-CUM-MERIT »SCHOLARSHIP
3 EXAMINATION 2020 ~—""""

(FOR STUDENTS STUDYING IN CLASS VI
Scholastic Aptitude Test

SRS AR

Class-VIII Code

State Code

Year Code Centre Code Serial No.

Roll No. 1

Full Marks : 90
Time: 90 minutes (1-00 PM to 2-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 90 questions.
Each question carries 1(one) mark. You are to answer
all the questions.

2. Before you proceed to mark in the OMR
Answer-Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against eactfquestion in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer-Sheet.

7. The OMR Answer-Sheet should be handed
over to the Invigilator before leaving the Examination
Hall. You may take away the used Question Booklet
after completion of the examination.
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Mathematics

1. If x+1=99, then £00%
X

3. If x2+y2+iz+i2=8,thenx2+y2 =7
. X

(a 2

(b) 4

© 9
@ 16

4. If a and b are both rationals then
a * b ='1; otherwise.a * b = 0. Thus,

2%(3%47)+(253)%V7 =2

@ 0

®) 7.

(© 2

@1

5. x=3.Then

(@) x*>x>1

(b) ¥x>x*>1

) Yx>1>x"

@ 1>¥x>x"

2% +102x+2

5. x=319g=

sifere

1. 7% x+L=99 =7, O %=
X 2x° +102x+2
@ 3
®) ¢
(c) %
@ 7

2. 3 57 112 13w S x q@ A

@ 2

~(b) 9

() 4
(d) 16

3. W »° +y2+i2+12=8®,w)&+y2=?
1 X y

(@) 2
(b) 4
() 9
(d) 16

4. T ae bTSERFMHSE@ a * b= 1; A
axb=010=E 2%(3+/7)+(2%3) %7 =7

(@) 0
®) V7
© 2
@ 1

(@) x*>¥Yx>1
(b) Fx>x">1
() Yx>1>x"
@ 1>x>x"



1 1
6. Ifa’+l=b+—=c+—,wherea,b,c¢0,
b c a \ :

then the value of a>b?c? is
(@1
(b) -1
(c) abc
@0

7. a and b are two positive integers and
b =125, then (a—b)**"* =7
(@ 25
(b) 125
(c) 625
(d) 16

8. Smallest number, which is to be added
to 100000 to get a multiple of 1232 is
(a) 1028
(b) 1024
(c) 1188
(d) 208

9. Sum of the first 10 terms of the series
NV R TR VRS is
(a) 100
(b) 55v2
(©) 2455
@ 1082

10. Ratio of loss to the selling price of an

article is 1 : 9. Then the percentage of loss is
(@ 9%
(b) 10%
(c) 11%
(d) 19%

6. ﬂﬁa+%=b+%=c+% @A a, b, c#0,
OR a2 b? A AN =
(@) 1
() -1
(c) abc
@ 0

7. @@ by @S LR 4R a” =125 T,
(a _ b)a+b—4 ) .y ‘
(a) 25
(b) 125
(c) 625
d) 16

8. 10000047 X FEOH @ HRAM @It FI
123243 fdes Aew W G 2
(a) 1028
(b) 1024
(c) 1188
(d) 208

9. 2.8, V18,32, - b dew
1078 sitra R ==

(a) 100
(b) 55V2
) 2455
(d 10v2

10. i 7 Re Fam e @ Rerw Tevs
Tt 1 : 9 7, iR et AR
(@) 9%
(b) 10%
(c) 11%
(d) 19%

[4]



11. f5A=4B=3C,thenA:B:Cis
(a) 20:15:12
(b) 12:15:20
(c) 5:4:3
(d) 3:4:5

12. ax® +bx+c=(3x—2)(x+1)is an identity,
thena—-b+c=
@ 0
(b) 2
(c) 3
(d) -2

13. ‘@’ isreal number and a =1, a > 0 then

1
- F—>2
.(a) a+a>
1
(b) a+;<2

. 1
(c) a+ => 3
(d) nothing can be said
7

14. ABCD is a square and ‘O’ is a point
within it such that ABOCis an equilateral
triangle. Then the measure of ZOAB is

(a) 150°
(b) 50°
(c) 75°
(d) 60°

15. The area of a rhombus is 200cm? and
the length of one of its diagonals is 4cm, then
the length of the other diagonal is

(a) 400cm
(b) 50cm
(c) 100cm
(d) 20cm

[5]

11. I 5A=4B=3C, A:B:C3@
(@) 20:15:12
(b) 12:15:20
(c) 5:4:3
(d 3:4:5

12, ax’ +bx+c=(3x—2)(x+1) SCSHABA &=
a-b+c=
(@) 0
(b) 2
() 3
(d) -2

13. ‘@’ AVIS8 a=1,a>0T,

1
(a) a+;>2
(b) a+l<2
- a

1
(C) a+;>3

(d) g2 3= IR =

14, ABCD 3+fwtaa Wi ‘O’ @3 g I@
o) ABOC @b 7 f&ge | L OAB -7 Al

W]
(a) 150°
(b) 50°
(c) 75°
(d) 60°

15, «3f6 790 cvae 200cm? '8 O I
T O dem, OIgE 99 IR G T3
(a) 400cm
(b) 50cm
(c) 100cm
(d) 20cm



16. The perimeter of a right angled isosceles
triangle is V2 (\/5 + 1)m .Then the length of the
hypotenuse is

(a) Im
(b) 2m
(©) V2m

1
—m
7 \/—2— 1 1 1
17. Ifa+ b+ c=p and ;+E+Z:0,then
the average of @, b?, c*is

(a)

ONC)
WS, Wi m eS|

—
&
N’

18. Fresh fruit contains 68% water and dry
fruit contains 20% water. Then the amount of
dry fruit that can be obtained from 100kg of
fresh fruit is

(a) 40kg
(b) 42kg
(c) 44kg
(d) 38kg

19. Two straight lines PQ and RS intersects
at O and ZPOR=5x+40°, £QOS=2x+130°,
then x = ’

(a) 15°
(b) 30°
(c) 20°
(d) 45°

20. 1f p = 301, then p(p” —3p+3)=
(a) 26999999
(b) 27000001
(c) 27100000
(d) 27999999

[6]

16. @3 W@ AR fagred s
ﬁ(_«/iﬂ)ﬁu@m@ﬂ?w%—gmtﬁm
(a) 1f¥
(b) 2f
(c) V2 f

1
(d) ﬁﬁ'

17. I a+b+c=pe %+%+%=0§§I,W

a, b?, c>~43 % 31
(@)

G
|‘u w | "GIw"'cN|w

~
(¢]
—

2

@ Z

18. 5531 T 68% S 9 T 20% & A |
1003 BBt 61 (ATF (T AT B0 o7 AN
LT S =61

(a) 40Ff&
(b) 42T
(c) 4=
(d) 38

19. PQ € RS TR b AF=ee ‘O’ Regee
@RI GR £ POR =5x+40° §R £QOS=2x+130°,
IR x =

(a) 15°
(b) 30°
(c) 20°
(d) 45°

20. 2 p = 301 7, @ p(p” ~3p+3)=
(a) 26999999
(b) 27000001
(c) 27100000
(d) 27999999



Physical Science

21. The melting point of a body is 40°C, in
Fahrenheit scale it will be

(a) 104°F

(b) 5°F
(c) 32°F
(d) 212°F

22. The velocity of radiant heat in vacuum
is i

(a) 3x10° m/s
(b) 3x10° m/s
(c) 3x10® m/s
(d) 3x10'" m/s

23. Molecular Formula of aluminium
sulphate is

(a) AL(SO,),
(b) AISO,
() ALSO,
(d) AISO,),

24. Unit of linear momentum is
(2) kg m
(b) kg m/s
(c) kgs
(d) m

25. Fill in the blank:
Zn +H,S0,=7nSO, +

() O,
() S
(c) H,
@ H,0

corefiEIT

21. I IF ATNZF 40°C, TR0 CFA 97
W 21
(a) 104°F
(b) 5°F
(c) 32°F
(d) 212°F

22. R OleoR @t #e MG
(a) 3x10"°FHR/ TS
(b) 3x10° foR/cTTe
(c) 3x10® SoF/cTe
(d) 3x10" fioR/CTe

23. SpENERN AFEGI AR e 2=
(a) AL(SO,),
(b) AlSO,
(¢) ALSO,
(d) ALSO,),

24, FRT SR 9T T
(a) kgm
(b) kg m/s.
(c) kgs
(d) m

25, WIS 779 A 2
Zn + HZSO4= ZnSO4+

(@ O,
®) S

(© H,.
d) H,0

[7]



26. Which of the following is a scalar
quantity?

(a) Acceleration
~ (b) Force

(c¢) Velocity

(d) Speed

27. On increasing pressure of water, its
boiling point will '
(a) increase
(b) decrease
(c) remain same
(d) initially increase and then decrease

28. Which of the following is an insulator?
(a) Copper
(b) Ebonite
(c) Iron
. (d) Germanium

29. Which of the following is a fossil fuel?
(a) Bio gas
(b) Wood
(c) Hydrogen
~ (d) Petrol

30. Which is the ‘Pale yellow’ coloured
solid substance?
(a) NaCl
(b) Solid CO,
(© S
(d) NO,

[8]

26. @G cEetia A2

(a) w3
(b) 3

(c) @
@ wf®

27. ¥ IO STETT FoAR
(a) A
(b) I
(c) «3% AFE
(d) 29 IS & TR I

28. w3 @ wwTE AN
(a) ==t
(b) ZRMRG
(c) =t
(d) Eiwy

29. @A GR—R Gl 2

(a) SicES=
(b) =10

(c) 2RrEiEs
(d) @ .

30. @ ‘Rree T Jofa Sl il
(a) NaCl
(b) %M CO,
() S
(d) NO,



31. Which is not an allotrope of Carbon? 31. G P HATST 74 ?

(a) Carbogen (a) Ficices
(b) Coke f (b) =%
(c) Gas Carbon (c) oA
(d) Fullerene (d) FEiA

32. Which of the following is the least 32. Siooa (I A I e YRR e 2

polluting fuel? (2) TN ,
(a) Coal
(b) CNG () CNG
(c) Petrol (c) CoN@re
(d) Diesel (d) feres

33. The number of poles in 2 magnetised 3. o pEee IR T FRYT

ring is (@) @3B
(a) One - () T,
{5 1 (c) SPRY
(c) Infinite .
(d) Zero @

#

34. Energy is produced in the sun by the 34, I @ ~=fers e Teon = O

process , (a) TS Rretew
(a) Nuclear Fission (b) e I
(b) Nuclear Fusion ' (c) TR aféF
(c) Chemical Process (d) oS

"(d) Radioactivity

35. The elements present in marble are 35, Wi TAES (el =
(a C,O,H (a) C,O0,H
(b) Ca,O,H (b) Ca, O, H
(c) Ca,C, 0O (c) Ca,C, 0
~(d) Ca,C,H ’ (@ Ca,C,H

[91]



36. Dry iceis
(a) Solid H,
(b) Graphite
(¢) Diamond
(d) Solid CO,

37. In a dam, lowar portion of the wall is
made thicker because

(a) water exerts less pressure on the
lower part.

(b) itis a custom.

(c) it looks beautiful.

(d) water exerts more pressure on the
lower patt.

A
m 38. If the mass of an object be 3 kg, what
will be its weight? (Take, acceleration due to
gravity = 10 m/s?) # ~
(a) 30 dyne
(b) 30 kg wt
(c) 30N
(d) 30 poundal

36. T¥ [T

(a) f7 H,
(b) 2T
(c) T

(d) 335 CO,

37. 34T o W @eTE @ veT I =T

I

(2) & O L METTE I Bist O
(b) @b @zl veAfe oz
(C) BT (TITS O &St
(d) =& NHF ST RS @R it (7

38, 93l T%e o9 3 kg T, Eha 6T I9
7R ? (43 wfesds g3 Wi 10 m/s?)

[10]

(a) 30 dyne
(b) 30 kg wt
(c) 30N

(d) 30 poundal



Life Science

39. Which one of the following is a skin
disease?
(a) Typhoid
(b) Polio
(¢) Ringworm
(d) Hydrophobia

40. Which of the following diseases has no
vaccine?
' (a) Polio
(b) AIDS
(c) Diphtheria
(d) Tuberculosis

41. In which of the following plants solid
nodes and hollow internodes are present?
(a) Sal
(b) Sundari
(c) Bamboo
(d) Neem

42. Calcium deficiency is being observed
in the diet of Amal. Therefore, he may suffer
from

(a) night blindness. .

(b) anaemia.

(c) increase of carbohydrate in blood.

(d) frequent bone decay or bone
breakage.

43. When in a plant part node, axil and
flower buds are present, it can be termed as a
(a) Root
(b) Stem
(c) Leaf
(d) Seed

44. Sundaland hotspot is located in
(a) Andaman-Nicobar Islands.
(b) Duars-Terai Region.
(c) Western Ghats.
(d) Meghalaya.

ISECRTIan

39. FEfRe @IrrEs S @i @9t b
ISR :

(a) SRzwe

(b) colifere

(c) wm

(d) weTreR

40. fsfTe @Eelm T @I @R @
Bt 12 2
(a) coifere
(b) AIDS (€3w)
(c) foorcafat
(d) T

41, FERRS AReRR T @i 5N Wb 4
@ Fiol 2/ (7 T2

(a) T oNt”

OEEKI

(c) I iz

(d) R sz

42, TR AT FAFIE ToI] AAfFere 23 |
4T FE O @ AP Ot e »Na ©f &1
(a) TS OITY I ol |
(b) TEwES | -
(c) F0E AT AR @ e
(d) =3 2T HE AT A YT (ST IS |

43. TfemR a3 SiRee T2 o1, T G oJSvigE
2o IS T A G AW, O OIS
(@)
(b) e
(c) “ret
(d) e

44. IS 25700 @l
(a) SMINH-RCHIRT w26t |
(b) TAPeE TkTH |
(c) 5B “FoNE ST |
(d) GrEEE |

[11]



45. Definitive host of Plasmodium is
(a) Humans
(b) Female Anopheles mosquito
. (c) Male Anopheles mosquito
(d) Housefly

46. The root of which of the following
plants do you eat?
(a) Spinach
(b) Potato
(c) Cabbage
(d) Carrot

47. Correct sequence of the life cycle of
honey bee is
(a) Egg — Larva — Pupa — Adult
(b) Egg — Pupa — Larva — Adult
(¢) Larva — Egg — Pupa — Adult
(d) Adult —» Egg — Pupa — Larva

48. Which one of the following is the
longest cell in the animal body?
(a) Red blood corpuscles
(b) Muscle cells £
(c) White blood corpuscles
(d) Neuron or nerve cell

49. In which of the following diseases
platelet count drastically decreased?
(a) Malaria
(b) Dengue
(c) Plague
(d) Tuberculosis

50. National Aquatic Animal of India is
(a) Gangetic River Dolphin
(b) Snake
(c) Crocodile
(d) Sea-turtle

45. zreenfey [Plasmodium]~4a9 3 (TS
el
(a) WgF
(b) & wERHaTT [Anopheles) st
(¢) %" WARAET [Anopheles] 1
(d) R

46. FxfRe Sierafl Sug @n oo T o
CATR AT ?
(a) IR =I®
(b) =g
(c) gzt
(d) e

47. e SRbeER AMGS ST =
(a) o0 - =S — Best — opffx
(b) T&w — %A — oSt — sfefi
(c) =St > fox — Bt — sy
(d) etz — o — BHSst — =St

48. 2RI e @G 2=
(a) @EfR® e
(b) coAfATPt
(c) ove e
(d) FgC

49. FsfRe @R T @R @i Spies
AT FRAN SIS I IR ?
(a) SR
(b) &%
(c) cast
(d) T

50, SESAE GeE GEe 2 25
(a) I5F wu
(b) =i
(c) Fh=
(d) e ozt

[12]



51. Which of the following sea-animals is
not an invertebrate?
(a) Jelly fish
(b) Sea anemone
(c) Shark
(d) Octopus

52. A camel’s hump actually stores
(a) Water
(b) Protein
(c) Fat
(d) Carbohydrate

53. ORS [Oral Rehydration Solution] is
used for the treatment of
(a) Cholera
(b) Malaria
(c) Cornea transplantation
(d) Cardiac arrest

-
54. Hyper secretion of growth hormone
leads to
(a) unnatural increase in height.
(b) weak muscles.
(c) increase of glucose in blood.
(d) moon-like round face.

55. A symptom that occurs in human due
to long-term arsenic poisoning is
(a) tooth discolouration.
(b) body bends like a bow.
(c) skin becomes blackened.
(d) facial muscles become paralysed.

51. fwfefie wnfas aiMefm g @b
SRS AfuS AR T
(a) =t e
(b) e T
(c) =ex
(d) B

52. TG4 Pres Ae Fo T AlES A ©f 2
(a) =&
(b) cafos
(c) =%
(d) ===

53. @ cAeiw et ORS [SaE R
3] T A O A
(a) FTal
(b) Syt
(c) i afezom
(d) I =05

54. J@CoAITT ZRONCETR S TR0 P (T4
Wl 1Y, ©f 2
(a) SRreife Tl i |
(b) W&o oA |
(c) AT FIeea s I )
(d) cotreTpfe (Brona 31o) yame |

55, Hipfee e doi@ T (e @ 7%
@l I o 2

(a) WIS (@I @I~ Wi |

(b) o2 4IA TS ({3 AT |
(c) BINTIE IR FICT = e |
(d) oI (A BPITG 2 Fe |

[13]



History

56. The founder of the Pala dynasty was
(a) Dharma Pala
(b) Devapala
(c) Gopala
(d) Ramapala

57. ‘Geetgovinda’ was written by
(a) Joydeva
(b) Ballal Sen
(c¢) Lakshman Sen
(d) Sandhyakar Nandy

58. The second battle of Taraine was fought
in
(a) 1181 A.D.
(b) 1182 A.D.
(c) 1191 AD.
(d) 1192 A.D.

59. The lastruler of the Delhi Sultanate was
(a) Sikandar Lodi
(b) Ibrahim Lodi
(c) Syed Khijir Khan
(d) Rukunuddin Firoz

60. The battle of Chausa (1539 AD) fought
between :

(a) Babur and Ibrahim Lodi

(b) Babur and Rana Sangram Singh
(c) Humayun and Rana Sangram Singh
(d) Humayun and Sher Khan

61. The ‘Tajmahal’ is situated in
(a) Delhi
(b) Hyderabad
(c) Agra
(d) Lucknow

[14]

57.

58.

59.

60.

61.

2fegm

AR AfSPIe R
(a) &=t

(b) ¢rR#AE

(c) colofteT

(d) =ttet
“Mreealf® a5 FeEw
(a) TR

(b) IS G

(c) =t &

(d) T TH

(a) 1181 RPGi=r
(b) 1182 %1z
(c) 1191 RGizr
(d) 1192 %%z

e profez o1 =s R
(a) P™F @

(b) aiEw Efir

(c) ram Rfgm

(d) TS Rrar

1539 51 (ST g7 2@fes

(a) 79 e Zifew @nf sieg

(b) AT ¢ TN M ez Wy
(c) TH @ Al e Fikezg W
(d) = 8 R Weeg

SreRE SIS
(a) ffece

(b) TR
(c) e

(d) =eaRICe



62. Tomas Roe came India in the reign of
Mughal Emperor

(a) Akbar

(b) Jahangir
(c) Shahjahan
(d) Aurangzeb

63. The Permanent Settlement was
introduced by

(a) Lord Clive

(b) Lord Hastings
(¢) Lord Cornwallis
(d) Lord Wellesley

64. Pitt was
(a) the Governor-General of India
(b) the Secretary of India
(¢) the Prime Minister of England
(d) the King of England

65. The father of Indian Railway was
(a) Warren Hastings
(b) Lord Cornwallis
(c) Lord Wellesley
(d) Lord Dalhousie

#

66. ‘Satya Shodhak Samaj’ was foundeci/by
(a) Iswar Chandra Vidyasagar
(b) Jyotiba Phule
(c) Keshab Chandra Sen
(d) Debendranath Tagore

67. The first President of the Indian National
Congress was

(a) Womesh Chandra Banerjee
(b) Surendranath Banerjee

(c) Dadabhai Nowraji

(d) Allan Octavian Hume

[15]

62. TN 1 SIS IEAER e AE
(a) WINPT AGTIIHA »
(b)) SR e
(c) MBI FIETE

(d) BFHTEIT AT

(a) =76 FR®

(b) =16 @B
(c) =16 Zfemiar
(d) =6 erEEFIE

64. 7% fermw
(a) SIFTST sfea-CEmIEe
(b) SrEeH
(c) ETESA AeieTsR
(d) T=iTes I

65, SIS @FAAART TS LF
(a) enrEw EFHe
(b) 76 a=lezifer
(c) =16 eTEAR
(d) =16 TR

66. i) (< Tt 2 W
(a) Fwzvm fRvpieR
ORGHER R
(c) &= W
(d) crasmlY SEa

67. SIRCST SO FIATTA AN FHoioif$ et
(a) SCrcE TN
(b) IHNY TCFHIAGR
(c) e Tafer
(d) e wEifenm e



68. “Corridor warfare” was occured in 68. <M 35" ATS =

(@) 1928 A.D. (a) 1928 R
(b) 1930 A.D. (b) 1930 %I
(c) 1932 AD. (c) 1932 fasbicw
(d) 1936 A.D. (d) 1936 RS

69. Matangini Hazra was associated with 69. TSHA 2T @ FCHAER ACH IS =

the movement of (a) Fores R ST
(a) Anti partition of Bengal Movement (b) SFTREIS STHIE
(b) Non-cooperation Movement (c) ZH Sy SNCwIET
(c) Civil Disobedience Movement (d) SRORITT! SEHE

(d) Quit India Movement

70. ‘Bartaman Bharat’ was written by 70. ‘TEAF SIS’ A6+ I
(a) Iswar Chandra Vidyasagar (a) =ve e
(b) Rammohan Roy (b) TR TR
(c) Swami Vivekananda (c) =R Fasw
(d) Dayananda Saraswati (d) T TR

71. The ‘Loksabha’ is presided by 71. GIRTOR Foioifeg T
(a) President (a) AZS
(b) Speaker ‘ (b) ~Aw=
(c) Prime Minister (c) 2LTNR
(d) Vice-President (d) Toapefs

72. The first Vice-President of India was 72. SIS AN SHAGeAfS raw
(a) Dr. Rajendra Prasad (a) ©: Ato™ oA
(b) Dr. S. Radhakrishnan (b) T AR AiFRee!
(c) Dr. Zakir Hussain () e
(d) V.V. Giri @ fo. B PR

[16]



Geography

73. Which layer of the interior of the earth
has the highest density?
(a) Sial
(b) Mantle
(¢) Inner Core
(d) Sima

74. Formation of the Himalayan Mountain
started
(a) 7 crore years ago.
(b) 10 crore years ago.
(c) 15 crore years ago.
(d) 20 crore years ago.

75. As per hardness, which of the following
is the mineral of least hardness?
(a) Talc
(b) Diamond
(c) Calcite
(d) Corandam

76. The source and intensity of earthquake
is measured by instrument.
(a) Seismogram
(b) Seismograph
(c) Hydrometer
(d) Barometer

77. In northern hemisphere westerly wind
flows from the
(a) east to west.
(b) west to east.
(c) north-east to south-west.
(d) south-west to north-east.

78. The local hot wind which blows at the
eastern slope of the Rocky Mountain is called
(a) Pampero
(b) Bora
(¢) Chinook
(d) Loo

Al
73. RS STGTSF SR (T WRHI TG AIGE
Qe
(a) Pre
(b) wFI9s

(C) TN
(d) B

74, ZETE siteq Teolfe v 2
(a) 7 I T=7 =Ta |
(b) 10 > TR =T |
(c) 15 If6> =7 =Tet|
(d) 20 @ T=F = |

75. o RN SwE W IR 2 ==
(a) o= :
(b) ©ETS
(c) PG
(d) TN

76. SR> T1 @ SFel oAfFwiot T =W
B[
(a) PG
(b) PrmarE
OEEIE
— (d) AoE

77. T&R coencd Ao T 2R zre ot
T
(@) 7F T AR |
(b) =Fsw (& K|
(c) TeF-9F (AT wiH-oAfR5E |
(d) wFFt-sifeox (i Bed A |

78. TR *{0e oF T TART @ T AR Y
211R® =W ©Ie =

(a) AT~

(b) @R

(© oo

(d) =

[17]



79. The Pygmies are found in
(a) Tundra region
(b) Equatorial rain forest
(c) Tropical grassland
(d) Coniferous forest

80. In which year Bhopal Gas Disaster
occurred?
(a) 1981
(b) 1982
(c) 1983
(d) 1984

81. Which is the highest peak of Bangladesh?
(a) Keokradong
(b) Kulakangri
(c) Tirichamir
(d) Pedrotalagala

82. Which volcano is called the ‘Light
house of Mediterranean’?
(a) Baren in Andaman Island
(b) Strombli in Lipari Island
(c) Mounalawa in Hawaiafi Island
(d) Etnain Sicily Island

83. ‘International Court of Justice’ is
located in city.
(a) The Hague
(b) Amsterdam
(c) New York
(d) Venice

84. Which of the following is the world’s
longest railway?
(a) Cape-to-Cairo Railway
(b) Trans-Siberian Railway
(¢) Trans-Caucasia Railway
(d) Trans-Australian Railway

79. i Toiwnifor wfaaia et =T e
(a) T TR
(b) Tz IR Sy
(c) FET Pl St
(d) SN Sy SR

80. (I = oIl o7 RKierfy wibfet 2
(a) 1981
(b) 1982
(c) 1983
(d) 1984

81. TN FAB> *5¢ (I=(G 2
(a) PSFITE
(b) TR
(c) Tefahm
(d) colrgremEeE

82. @ SRS TP A TS’
BEIEE
(a) ST A2{tGT WIS
(b) fo=ist Aesia 23k
(c) QTR Aol ANERIE
(d) PP Qg @b

83. wIwEifes RyEm waye
R |
(a) @t
(b) SHIRGN
(c) T =6
(d) s

84. A7 Wfow Tl ==
(a) oG- @G
(b) GE-RRRRN @@
(c) TF-FAIT @l
(d) BF-ICERRIN e

[18]



85. ‘Death Valley’ is located in
(a) Rocky Mountain Range
(b) Andes Mountain Range
(c) Great Dividing Range

(d) Ural Mountain Range

86. ‘The slaughter house of the world’ is
(a) Duluth

(b) Kolkata

(c) Bafello

(d) Chicago

87. ‘Granchaco’ is a region of
(a) Mixed vegetation
(b) Tropical grassland
(c) Coniferous forest

(d) Desert vegetation

88. The capital of Argentina is
(a) Buenos Aires

(b) Brasilia

(c¢) Columbia

(d) Santiago F

89. ‘Great Barrier Reaf’ of Australia is
situated along
(a) North-Western Coast
(b) North-Eastern Coast
(c) South-Western Coast
(d) South-Eastern Coast

90. What is the name of India’s own GPS?
(a) IRNSS
(b) GLONAL
(c) NAVSTAR
(d) LOCUS

85.

86.

87.

88.

89.

90.
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T TAer e
(a) 3 oAIFey wTe
(b) =i ey Skt
(c) (oo TeiRfer sfosics
(d) TR AfoNETe

(a) GoIe
(b) FEIOCT
(c) I=TEN
(d) M=

(a) T 3o S

(b) T Perel wwew
(c) RERANT IS e
(d) = Ofen wigew

(2) o anl
(b) R

(c) F=f=at

(d) fGaeen

(a) Tea-~ifeow Toie IR
(b) Ter-oF Tz IR
(c) wfRm-oiffss Boiget 3R
(d) wfEme-o/f orpe 9197

oo Ao GPS I9RF N i ¢
(a) IRNSS
(b) GLONAL
(c) NAVSTAR
(d) LOCUS



